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SH CAEE
HE: o M A4S B FHEX A
Cel: RpEe e A (ZSAASHEIH) CEERE
S B SHRA(BH) - MRAY - BES Of 4t 04 e HRE2
O NEZHIRA 3,600
O YTYHOLE H4E HA 1,500,0008 * 23] 3,000
O BH+BIZ ¢l 300,0008 * 2CH 600
401 A& HI L 2 THBI 20,000 20,000 0
01 Al &t 20,000 20,000 0
O A& S22 - 2% 46 S) 20,000,000 * 14} 20,000
201F FN2 N 6,720 9,720 3,000
201 B2l 2,000 5,000 3,000
02 2zl 2,000 5,000 3,000
0 2222 2 MA 2,000
O 2oIFe o 323 1,000,0008 * 2AICH 2,000
202 01 bl 4,720 4,720 0
01 =L 01 bl 4,720 4,720 0
O HMEH Z+s2 20,0008 * 4% * 31 2,480
O EIIAYR 25 E A 80,0008 * 4% * 73| 2,240
SOFEAY Ol (FHASSESIH) 653, 196 671,248 A 18,052
= QI=EHALY Ol bl 653,196 671,248 A 18,052
801 04l tl bl 653,196 671,248 A18,052
01 ol bl bl 653,196 671,248 A18,052
O olglsl 653,196,002 653,196
WeES(CAFHT) 32,595 32,595 0
SHNE(FLUANASHEH) 32,595 32,595 0
BHNE(FLUAY) 32,595 32,595 0




2N TAF=
Bu: WRES(TAELD)
el BEMXS(FHASELFAH)
SN Y- SA(S) - NEAY - BHES 01l &k 08 e
802 gtet= DI Et 32,595 32,595
0B udas 32,595 32,595
O SFUU=E HAMHWKN E53 gHat 15,505
O 253 etetzg 1,314,000& » 2AICH 2,628
O 253 ttazg 1,708,000& * 2AICH 3,416
O 253 g3 2,102,400& = 2K CH 4,205
O 253 ttazg 2,628,000 = 2AllCH 5,256
O SRSUFH(AIH) HAMX X 253 gt 17,090
O 253 Etatz 10,920,000 * 1AICH 10,920
O 253 g&3 6,170,000 = 1Al CH 6,170




